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1
1.1
1.1.1
G.L.(m) 0.000
G.L.(m) -3.000
q kN/m? 10.00
1.1.2
No N () Co k
G.L.(m) | G.L.(m) (kN/m%) | (KN/m*) (kN/m?) | (KN/m?) G.L.(m)
1 0.000 -3.000 6.0 16.0 8.0 0.0 36.0 0.0 0.000
2 -3.000 -6.000 6.0 16.0 8.0 0.0 36.0 0.0 0.000

FORUMS8



1.1.3

0. 000 0. 000
AN
o
<o
<o
)
-3. 000 14. 40
AN
pa* = max pa,pamin
pa=Ka Xyh q 2cV Ka Ka = tan®> 45° ¢ 2
pamin 0.30 Xy h
No GL(m) Em) (0} kNgmz > rh+q Ka pa pamin pa*
Y () KN/ KN/m? kN/m? KN/m?
1 0.000 | 3.000 | 16.0 0.00 36.0 10.00 | 1.000 -62.00 0.00 0.00
-3.000 36.0 58.00 -14.00 14.40 14.40

FORUMS8



1.2
1.2.1
0. 000 0. 000
5. 04
~0. 900 S
o
~ 10. 08 5. 04
2. 100 10. 08 12,24
<
<
o
S
—3. 000 14. 40 12. 24
AN
(€H)
1
No h p P
6LM | my | Kk KN/m
1| 0.000 | 2.100 0.00| 10.58
~2.100 10.08
s 2.100 10.58
H=2.100 m
P.=SP H=5.04 KN
2
No h p P
GLaM | ) | K/t KN/
1| -2.100| 0.900 | 10.08 | 11.02
~3.000 14.40
s 0.900 11.02
H=0.900 m

P = SP H=12.24 KkN/m

FORUMS8




)
Ws = Pda* BX
W AT A B L—/LDOAER e E (kN/m)
pa: &R a1 (kN/m’)
Bi: AT A FL—/LEEm B=2.500(m)
NO. I, Pa , Ws
G.L. (m) | G.L. (m) m kN/m kN/m
1 -0.900 -2.100 1.200 5.04 12.60
2 -2.100 -3.000 0.900 12.24 30.60

FORUMS8




(m

1.2.2
@
M = DPa * LDZ
8
M : (kN.m/m)
Pa: (KN/m*)
L,: (m)
L, =B« -2 d=2.500 - 2x 0.044 = 2.412(m)
B.: (m)
Pa , M
No. G.L. () | G.L. (m) kN/m kN.m/m
1 0.000 -2.100 5.04 3.67
2 -2.100 -3.000 12.24 8.90
)
No. | 6.L. () | G.L. (m) |
1 0.000 -0.500 3.67
2 -0.500 -1.500 3.67
3 -1.500 -3.000 8.90

FORUMS8



1.2.3
ABC
€Y
30. 60kN/m
12. 60kN/m
AAREAARRARRRERNRRR VWV VYV VYYVYYYYYYYYYY YWY WYY YN
A B
1. 200m 0. 900m
L. W,
G.L. (m) | G.L. (m) m KN/m
AB -0.900 | -2.100 1.200 12.60
BC -2.100 | -3.000 0.900 30.60
(DA
Ws .LSZ_WS 'Ls2
RA — 1 1 2 2
2'LS1
~12.60X 1. 200" — 30. 60X 0. 900"
2x 1. 200
= -2, 77 (kN)
R, tAsLIZ U B T (kN)
W.: : ABFE] D A 7 22 (kN/m)
W : BCR D AEH fir 2 (kN/m)
L. ABfA /% E (m)
Lo :BCRIA /R £ (m)

FORUMS8




®

4

QBA

QBC

_(Wsl * lez + WSZ * LSZZ)

2+ Ly
-(12. 60X 1. 200° + 30.60X0. 900%
B 2% 1. 200
= -17. 89 (kN)
=W, Lo
= 30. 60X 0. 900
= 27. 54 (kN)

:MaX(‘QBA‘, ‘QBC‘)
= Max (17. 89, 27. 54)
= 27. 54 (kN)

Qe ABEIZ & BB 8 AW F7 (kN)
Qec: BCMHEIZ & BB D AW FJ (kN)
Q EREAMTS(KN)

WSZ * LSZZ
2
30. 60 X 0. 900*
2

12. 39 (kN. m)

FORUMS8



1.2.4

N - 8lE Y 57 (kN)

pe: it 1 (kN/m?)

L8 Y o LEHAFEE ()

Bi: AT A R L —/ LG m  B=2.500(m)

’ N
No. | G.L. (m) P
G.L. (M) | G.L. (m) | 1.(m) K/ kN
1| -0.90| 0.000| -2.100| 2.100 5.04 26.46
2 | -2.100| -2.100 | -3.000|  0.900 12.24 27.54

FORUMS8



1.3
1.3.1
0. 000 0. 000
7.20
-0. 900}
()
()
()
o
-2. 100>
—3. 000 0 an 14. 40 7.20
AN J, JUU
€Y
1
No h p P
6LM | my | Kk KN/m
1 0.000 | 3.000 0.00 21.60
-3.000 14.40
b3 3.000 21.60
H=3.000 m
Ppe = TP H=7.20 KkN/m
@
Ws = pd ° Bx
Wi AT A R L—/LOAERff E (kN/m)
pal 5% 5T HE (kN/m”)
By: A5 A KL—/LE@m B=2.500 (m)
No. I Ps Ws
G.L. (m) | G.L. (m) m kN/m kN/m
1 -0.900 | -3.000 2.100 7.20 18.00

FORUMS8



- 10 -

(m

1.3.2
@
M = DPa * LDZ
8
M : (kN.m/m)
Pa: (KN/m*)
L,: (m
L, =B« -2 d=2.500 - 2x 0.044 = 2.412(m)
B.: (m)
Pa , M
No. G.L. () | G.L. (m) kN/m kN.m/m
1 0.000 -3.000 7.20 5.24
)
M
No. | G.L. (m) | G.L. (m) KN m/m
1 0.000 -0.500 5.24
2 -0.500 -1.500 5.24
3 -1.500 -3.000 5.24

FORUMS8



- 11 -

1.3.3

€Y)

A*C

18. 00kN/m

G.L. (m) | G.L. (m)

kN/m

A*C

-0.900 -3.000

2.100

18.00

@

®

Q

W, A’ CRIDER T E (kN/m)

W. XL,
2
18. 00X 2, 100
2

18. 90 (kN)

SO AW (RN)

L. :A CRA R E ()

W, X L2
8

18. 00X 2. 100

8

9. 92 (kN. m)
GL.-1.950m

A

1.050m

FORUMS8



- 12 -

1.3.4

pd'Ls'Bx

N : 2 17 (kN)

pe: it 1 (kN/m?)

Lot ALK (m)

Bi: AT A R L —/ LG m  B=2.500(m)

N
G.L. (m) Pe .
G.L. (M |G.L. ()| 1.(m) kN/m kN
No. 1 | -0.900| 0.000 | =-3.000|  3.000 7.20 27.00
-3.000 | -0.900 | -3.000| 2.100 7.20 1890

FORUMS8



- 13 -

o ERIFS B (N/mm?)
oa: AT ISR (N/mm?)
CERCRHNSE— A B

Z o WrinfRik

No. ol . o o8
x 10°(N.mm/m) | x 10°(mm’/m) N/mm N/mm
1 5.24 175.00 29.9 210.0
2 5.24 163.00 32.1 210.0
3 8.90 196.00 45.4 210.0

FORUMS8



- 14 -

1.4.2
45.0
@
SS400
tf cm 2.50
tw cm 2.40
b cm 11.20
h cm 13.80
| x 10*(mm*) 1653
)
M Q
x 10°(N.mm) x 10°(N)
12.39 27.54
9.92 18.90
€))
L
—=4.5 ga = 210
b
L
4.5<—=30: oa = {140—2.4(3—4. 5] X1.5
ca (N/mm?)
L (cm)
b (cm)
L b oa
(cm) (cm) L/b (/)
90.0 11.2 8.0 197.3
210.0 11.2 18.8 158.7
%)
M _ h
o = —X— = oa
1 2
o (N/mm?)
ca (N/mm?)
M (N.mm)
I (mm*)
h (mm)
o ga
N/mm? N/mm?
51.7 197.3 o
41.4 158.7 o

FORUMS8



- 15 -

®

T (N/mm?)

T a: (N/mm?)

Q : )

1 (mm*)
h (mm)

b (mm)

tf : (mm)

tw: (mm)

T T
N/mm? N/mm

FORUMS8



- 16 -

2
2.1
2.1.1
@
No. (kN)
1 27.00
2 27.54
)
SS400
A x 10°(mm?) 14.45
Z x 10°(mm?) 28.45
r (cm) 2.96
W; x 10°(kN/m) 113.0
(B-2x ) 2x 2 m 0.450
= 2.000(m)
=B -2x =2.000 - 0.450 = 1.550(m)
2.1.2
Wj M L2
M =
8
0. 113X 1. 550*
= T = 0.034 (kN. m)
M FRZ T b 70 (KN m)
W BEAZ R (kN/m)
L B & (m)
2.1.3
L
—=18 oa = 210
r
L L
18<—=92: oga = [140 - 0. 82(— - 18] | X1.5
r T
L 1200000
92< — = -
r 6700 + (L/r)
ga (N//mm?)
L (cm)
r (cm)
L r ga
(cm) (cm) L/r (N/mm)
155.00 2.96 52.36 167.7

FORUMS8



- 17 -

2.1.4

(&)

N M
= — + —
A Z

o HI RS T (N/mm’)

A

o a: BT A FFAERIG /) B (N/mm”)

=

- W T AR

N = =

Sl A (B A7)

CHEICLAHITFE—A 2k
(WrEfR SR

No.

N
x 10°(N)

A
x 10°(mm%)

M
x 10°(N.mm)

z
x 10°(mm°)

o
N/mn?

oa
N/mm’

1 27.00

14.45

0.034

28.45

19.9

167.7

2 27.54

14.45

0.034

28.45

20.3

167.7

FORUMS8



- 18 -

2.2
2.2.1
@
N = 18.90(kN)
)
d = 9.0(cm)
B = 2.000(m)
L=B-2x =2.000 - 0.450 = 1.550(m)
A=t d¥4=mx9.0%/4 = 63.6(cm)
r = d/4 = 9.0/4 = 2.3(cm)
fc = 12.0(N/mm?)
2.2.2
A =30 fk = fc
30<1 =100 : fk = fc(1.3—0.011)
0. 3fc
A>100 = —
(1/100)
fc: (N//mm?)
fk: (N/mm?)
A
A = L/r
L (cm)
r: (cm)
L r . fc Tk
(cm) @) | AT oy | ovnm
155.00 2.25 68.89 12.0 7.3
2.2.3
N
o = — = fk
A
o: (N//mm?)
fk: (N/mm?)
Nt ( )
A :
N A o Tk
x 10°(N) x 10*(mm®) N/mm? N/mm?
18.90 63.62 3.0 7.3

FORUMS8



- 19 -

3
3.1
3.1.1
€Y
@
G.L.(m) 0.000
G.L.(m) | -3.000
q kN/m? 10.00
3.1.2
€Y
Nb = —= ““gH” T4 < Npa
>yH ¢ c Nb
(kN/im) (KN/i) Nba
48.00 36.00 | 1.333| 3.14| o
(e)
@z vi Hi
y i (kN/m°)
No Li , .o -
G.L.m | GL.(M | M | qlym) sz/%%;
1| 0.000| -3.000| 3.000| 16.0 48.00
s 3.000 48.00
©)

c 36.00kN/m?

FORUMS8
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